BALANCING CHEMICAL EQUATIONS ANSWER

Name: Date:
1 SiCl, + 4 H>O0 — il H,4SiO, + 4
6 CO: + 6 H.O0 — il CsH1206 + 1
4 Fe+ 3 O, — 2 FeyO4

2 Hz:PO, — 1 H.P>,0, + 1 H2O0

L SizHs + 17 0O — 8 SiO: + 6 H>0:
1 N+ 3 Hy — 2 NHs

1 Fe>(S04)s + 6 KOH — 3 K>SO, + 2
1 CioHi6 + 8 Cl. — 10 C + 16 HCI

2 N.+ 1 O0; — 2 N,O

2 AI(OH): + 3 H>SO, — i | Al>(S04)s +
1 CO: + 2 NH: — i i OC(NHz): + 1
2 Na + 2 H,O — 2 NaOH + 1
2 H> + i 0, — 2 H-0

2 HgO — 2 Hg + 1 O

1 Zn + 2 HC — 1 ZnCly + 1 H,
1 S0O;

Sg + 12 0O — 8

HCI1

O

FE(OH)-

Hz




